20148 &
Kl M2 Ol AT

(Hel)

) LY
5 ' =L X[ HH O] = _Q[ e -.
B



1. 20148 % &bl N8,

H35,200 & ¢

HI2FaE

035,200 # &

M=

HIZE o192 20,

Z, Mgl AEE8HNE Y MY,

MEETIME W23 ARE MIBEN 260

al

3. fldn] B8 ME=ige

HEOIAIT HRBH, )
ot
HTE MU SEiol 0MHY S0E 00} B

4, FIFEHME



2014 MY - Mz Ol otA

£z F1.5 03 416418) el kAl

s | o= | = it HIgis)
ol [p=aae Py 50,800 sf o
w [HzzLs wm 2.6 g o
| 212 [rieres iz 231,039 03,000 sl o

6 [Ea22u 132, 006 110,05 22 000 - 157
z |euasy V42,07 D003 aroo] - 16.7

51 e sas 10.0% 7,000 -

szl Ny S 122,6% 18900 ~-z2o|- 136

o Juza 153,553 £45 600 ts.aad 3y
84 Imz—'g 423,558 35,600 vzm8 %57

asr | ssss 257,635 239,000 wz.ou| s

ziz | zom3taa 1D 0T 125040 ~15.6) -

e [l £3.1rc 3. 707 5,00 - s
L Ere " 25207 £, 500 5.¢¢q| - 198

g1z amanvay 23 a0 -

11 L .00 =500 - 2

823,70 HI LS BT




201485 Hlg - Hls OatA

E{NE3)
& = 5254}
HEE AT 1Al
2 | o | = mE (e
= 52,000 30,105 e s
| 11 [ua 13503 51,169 22wl sz
W1 |26 Y0.000 W 20000 ol
HafREL: nE; 3o .
t1adsrza 2,590 2zt B
gt navoFn Y 30 240  0m
2 [uzanan) £004 22500 weal  aess
12t | nzRe 1503 2400 | a3
izz [gous 18,004 15,009 -
373 f2r0iR 2 201 2000 -
13 f=ms 3470 5287 Y N
13 { ISR EI0E 12,500 13,550 -Z500—- Bn
ras b S 4.000% 16,600 20l 25
133|zan 2 230 vl oo
12 s 640 6500 500 8.3
ez [uezau 42500 550.60 e Er
21 Jugs 530,000 wazeal g
e faa; P£G.LL0 mowsa| =7
21z | wps= 276,000 -
e 270 -
an [mepesm 7.0 -
<1 FEET 10,607 -
3tz |E 12,0659 -
M lnzn 5463 -
M 287.009 23 e —acml- s
NEE 160,05} 160,500 R
i 411 |sme 162,000 103,67 -
22 (ot e 197,000 143 575 —aeaal s
231 oy 11530 100,633 e
a2z fprsimassen 40,530 20,033 —zagial- o
aza fprger 0.0 1 0 e
P I BL2D B.6M -
o7 fane 2500 25660 2| s
7 fens 1000 550 | 1ese
ENEEE 5005 45,330 gz tomo
o4 | (11 5,833 B el =z
Be fu]sunr 5855 .80 13350 ma
[ an_Ji:auam 5815 BB roasf zma
| H 797735 635 p0e T37AnE 1.2




24 E AIEY

I

il &HA

s
o= . i FaE-A
= Py ] = EEb M= g3 =4{] e fk!.‘-%{"%i LAY =

o jezasy 23, 85 751,00, L
a fezasn 350,953 5.0% &1 i

[ 411 prresessnne 250,83 10, 51 a [wz=ag 0,500
= fEEQ‘TEE 100 10,03 zom|- 57
5t [remeu 1.0 130,600 -zl B

s lwasag 10,0 1300 - 10,030

st ixasss 122 .50 DAL -u2 oech - 0.0 5. 060
w |ozg 03 545 £25 000 wiaz| =

5§ |c¢,§,§ m3zes B3 106 vad] w7 |ERoTn wys

2y |aEeges a%3,350 479,003 wron| s

i e s +47.555 +23 00 MR | TR 125 o
ra fmen 73,555 0.5 =.on}- 193

|

o1 Joze 5.5 £ i S5.00] - 18.a
91z [SEr gopm o 28 0 B e 201
SR B4 193] BN SE OO WO LRI AH] 5 Pa=R

e

18,455
1




2485 Q- HIE ¢t A

Mok Sh:E453)
x0= SEHEA
SiEinprmiiag EaTHE fraiis
=z } oo | =t 24 B}
o1 Juew £2.6:4 35.500 meof e
i fezaul 11,209 3,500 zeex| e
i fae 1) L2 30,608 T0.000| 09 0 125500005 10 3,000
s lusay 3403 2,603 10,69 175 3509
nsfsingeymuns 7,503 2] ool
Vi [azppmes £00 9,000 7407 4000 Juammaoa 9,400
1z |eear om 2640 V2T o] 4mLs
w31 | By 577 2005 | maferamay 2,00
I3z g5 R 1y B.000 £.000 Sl & -1 Retea 12 3 15,200
123 fzr ey 2 5 255 - |ma b £
FE ST 1.033
13 [2aw 34,700 24,857 e
12t |22 2am 12,500 Y0075 250)- 0.0 {Buagsyza 10,000
122 | S aan 14.009 19.253 e Y I 1,600
HEmsa 5.07
Bila s 2000
faann ] - ¥: 1 1000 s |saans 1,500
| s mugs 1,000
L prs m g 10
ez |maz=na 5003 5,503] 4 8.3 [rasi 2,570
SuEn 4,000
w [mezam 423001 520,00 ot ma
20 {Man 8,00 57005 Hopwl T F
2ty [apare 150,090 I8 o] g7 [auuss
292 {1 g sk T 2,000 - |lenasEN P2 ——
B [sheins 2700 71000 -
1 |esesisn 703 vz B -
LAt [am ey 10 GeXre L 1,000
]z | 12008 2,000 - [uea E60
LR 204
Hogpseps -
SPRIENY —_—
yRIREsG .00
T ECE ST 2000
REHE R b | it 3.007 - |FERYDoE £, 000
re [Maa £a7.008 P23 00 ~dgool 3
E1] ]B-‘-‘:g [ARs Rt f] 163,00 -
[ 2r [eceras 182,626 169,030 - |erorin 160040




20144 Aigl - A&

O OFA

1851815

HEy
S szmieainy | dasie bl pa
> 5 ! = a W)
z [posisns +57.60 14158 e T
21 Jpwm 162,060 103,050 aal- 3.3 |aEs 100,052
w3 [maagas 20643 20670 ~moa|- @ jmoar 0.7
Lred oS b N 3] 150 - 5§85, 000 - .0 [inkee 15,000
vAlsES T LA 6.0 B8 - lazupak .00
o [zams 4,630 .07 s1sz0] rovsp
1 |nmz 4,609 43,854 stozt] remo
i?l{lg‘:;—-‘_ 3 00 EER O] ALDGI LEFT g jRETEREgIusY EY Wi
& | 5,813 D1 2o Y
m [aum) 5.03% BEW tess]  3.a
| 533 Jnnane EAIS 2600 = BRI ET D5
p 13103 834,553 7455 .2




Ol &8 A

==
=

ol

md

All

NI&.

12. .

2013.




4.

1. 201455 QIS s HE-HE B

2
P
Of
Jot

SHE Sk 20,
Hges 1,825,934 & &
HS% 1,925,934 &3

FHEE o2




20149 = Mg - A= ClI&EA

(g9 : #F)

SZE
A of Al =
. o138 a8 s - 201 M=
= El &HEH(A) Gl &te (8} = Gl &2 (A} Gl &ten ()

ELES o E=ege] 23,484 27000 12| 1,307,424 1,353, 90F
Hizg=g F.716,85) 1,628.558 HEZEE 5.250 3,200
FHES=L Ba.847 77052 ESHH{MF 87,036 81,2580

Ha=z 5. {00 100, 000 Al &EHI 202,548 43,700
gh=a=g 24,730 38,503 ZEB{ME £53.366 230,414
WE T 14,705 14,637 L= Lif! 4 804 4,200
olE= 4=, 05,43t 38,787 AP EH| 125,435 147,657
5.248 6,855

14,705 14,637

1,885,834 g H 2.045.8¢7 T.825, 834

fice
bl

2.048 B¥7




201485 AHIg - AlE Olf &FA

5 (S5l &9)
& = 2N3HE )P Z2HE-A)

= & = [ M E5(A) =Rtz oiem dlgziy)
S ANTRI LY 23,48 27,000 3.516 15.0
i |erakiman 23482 27,000 3.5:8 15.0

i | wzmsa 17,484 33,000 1 518 13.2

nz | nEsogs 12,000 4,000 2,000 16.7

THEEE 14,705 14,537 =51~ 0.5
3 |omussy 14,705 14,537 5 [- 0.5

a1 14,705 14,857 |- o5

HEZHY 1,718,850 1,828,558 7.8 |- 5
PO [E =N 1,716,550 1,625,553 7892 |- 5.1

an | ma=zzs 70,074 - 70,074 |- 100.0

a1z | nemza 1,636,675 1,607 E53 23023l 18

a3 | 2rexsa - 3,105 3105 -

& | BE=a 2,000 13,000 3,20 100.0

=832y 77.052 s |- s
51 |zazay 77.052 Ssss | -13

st | nzsasz 1 57,052 13585 |- 19.2

s |wnasas e 20,000 2,000 | 1.

Ha T 000 105. 000 EXoh C
31 [HE2 105, 060 100,000 a0 |- B2

BI2 | mommz(s) 102,000 00,000 a0 |- 5.3

Faol 36,730 23 500 2,770 7.5
o1 |eee .73 23,500 2770 7.5

o1 | 2Ez0zy 1,000 3000 - -

012 | mEoime 1,00 1,00 - -

113 | ey 34,730 37,53 2,770 B.0

EE! 53,421 58, 767 20,6 - 347
51 lolea 53,421 53,787 2068 |- 247

312 | AUE0IDS(E) 77 654 14,235 518 |- 377

% 2,043 B17 1,625,524 22883 |- 8.0




20148 = Mgl -MdZE Ol&tA

= (5 #a)
2 0= 20139 % 201495 S2E-a)

o 2 = ER By H ¢ (B} e Bigi)

A=l 1,402,710 1,448,367 23.857 2.7

AR EEE 1,207,424 1,353,807 45,483 3.6

11 | 20 777,855 52,374 24,413 3.1

12 | Ay 527 16 351,229 24,123 7.4

1 | zaua 2,000 500 -reoo | 750

ns | snzpaanuz 91,882 89,080 2814 |  -w1

U5 | AEZHERUR 100,470 02, 122 1,654 1.8

17 | NEEEy 7,825 8,600 575 7.3

l EEES T 5,250 3,200 2.0 | -39.0

2 | e 1,000 1.000 - -

123 | slelkl 2,250 2,200 2,080 | -48.2

13 | EEHI .05 31.250 5776 | 6.0

3t | o 15.000 17,000 20| 133

132 | £suRELR 38,500 26,500 10,000 [ -28.0

w3 | Zzes 28,700 22, 100 <00 | -z

i | mwEmE - 703 7,650 g4 83

125 | mra LS ' 7,000 o | 77

15 | JIEF2 2 1,500 3,000 1700 | 1308

02 | marzaw 202,548 43,700 -1ZB.843 | -76.4

N DEE 202,545 £3.700 -158,843 | 78.4

o1t [wau 161,848 20,600 -tar,828 | -B7.7

212 [mersisy 27.000 10,800 ~oo0 | 830

213 [MgzaR 13.600 13,700 160 0.7

Kl 416,606 212,271 2235 -0

ar ezl 263,555 260,412 rosm| 25

S FEEI 201,765 210,314 8.54 4.2

3z |+smz 7,000 5,000 -tooo | -14.3

33 (= 20, 000 13,020 2,000 | -10.0

a1 |SrEHI 2,500 2,000 1500 | E0.0

315 {zeu 1,600 1,000 - -

318 {SE2 15,000 15,000 - -

318 (AR 3,105 365, 100 - -

= |2sw 4,50 4,200 04 | -12.8

w2 |msEa 1.3 1,500 20| 15.4

szl [ 2,500 1,50 |- 1000 [ -a0.0

a0 |nEns 1004 1,200 1 [ 19.5

33 [sem 128,435 147,657 10778 | -5.4

332 s Al H T 52, 654 45,505 R N




n

20148 HIg -~Al= GiotA

| W=
HER {et%: @5)
4= 20132 & A RIELS S
a3 o = G2 EI(A) Hshigs ]t = HIE= (%)
3 |2s Rl 57.617 1.052 -26,568 | -48.1
335 | MR 18,185 21,000 2635 { 158
16 |EELE 20,000 20,000 - -
05 [HEENE 14.705 14,637 53| -03
5t [zusrs 14.705 14,637 5| -05
511 |RUSTS 14,725 12,637 8| 0.5
wep [GITE 6,223 6,859 LTI 328
a1 s 5,248 5,859 1710 32
At [oaait 3.248 4,550 1.711] 827
B2 [uas 2.000 2,000 - -
4 2,048,817 1,825,034 |- e 6.0




20148 AIgl - MlE Ol &HA]

25 (otsf - B
2 = 20136 & 20148 & S2M0-A SELe
- = p (2 abe{A) & £hes(a) .y - =

9 aTRT@L0l 23484 27,000 a5E | 150
T 03,484 37 000 3556 | 5.0

1| Az 11,484 13,000 151 | w2 |avns 19,000

N2 HENsE 12,000 14,000 pom | 6.7 lezous 14,000
14,705 ], GaY -£3 [~ 0.5
TUEag 14,705 12,637 23 |- o5

an 14,705 14,837 =3 |- o5 jnEsz 14,637
1,716,850 1,628.355 7.8 |- 5.1
EERLE 1,718,650 1,628,958 5782 |- 5.1
M 2AFEES T, Ord - 574 E-100.0

sz| MEzgzz + 676,578 1,807, 65 29.023 |- 1.6 23 202, 374

SR ES I B4.250

fanngsn 23,840

NEE 12,250

Neap 1,800

BI S E AT 185, 207

HURE 31,50

A BIRU=YE : gz

=piea 45, 178

R 8,205

M 7,178

smmaa 33,060

oz 144, 842

oz | 5.655

EY 25, 800

1.200

NEHEEE 10,609

2oy 77,433

o) 1600

AT A 83,078

A EETEE - 3.105 s | - |mm 1,360

BEEHE) a25

HEma +.3a30

R T 3,000 18,000 a0 | oo [Muzazns 15,000

FEEEIE 2,000

JIERIE 1,600
83617 77,052 11,555 {- 13.1
51 [eaas 33,817 77.052 11,585 | -13.1

|s11] nz=as 70,67 57 052 3,585 |- 9.2 jsl=zmssa 10,000




20149 Al - M= GliatA

gl (29 : @)
2 = 013EE 014 E SEH AE
= at =] (&5 {A) M (B) = WIS (%) o

DHBEEIS 12,052

MO 15,000

JIETIEAS 20,000

512 2IRHEAS 13.000 200,600 2000 ) 1 |lgmass 20,000
mo g 109,000 100,000 0.0 f- 8.3
51 (RS 109,000 100,600 8,000 - 3.3

gz | wemea(=a) 109,003 100,003 2,000 |- 3.3 jAsg2anmyE B3, 000

TI O AR 19,000
Eapm 3,730 38,500 27| 7.3
101 |&2a 56,730 33,500 2| 75

o1l sgEnp3 1.000 1,000 - - |zsEnan 1,000

miz| mzonee 1,000 1.009 - - |=zoun 1,600

13| e aey 4,730 37500 20 8.0 [Heiws 1,000

NnEERonas 2,000

EEBENAE 2,500

EIE&H| 20,00

5: """ IEFE 29 1,600
nlEE 59,2302 - m3EET | <E0.544 |- 34
g1 [DIE2 59,231 2a.7a7 20,548 |- 287

o | puzoas 5577 24 551 12,0268 - 32.9 |2 aHE2Y 22,701

JEEERSY £03

ol 1,100

01742l =7

| HEE0ES(EH] 22 BE4 14,238 -4.616 |- 7.7 (HABLUB{SE) 2,071

e 12,153
| 2,043,817 1.025,00 | - 122883 |- 8.0




20148 = Mgl -AiIZE Oll&HA

= 2013WE | 2014EE SHE-A) s
= meHE) | e P =

vem 7o | 1428 087 =g | 27

o121t 1,307,424 | 1,353,007 5,283 | a8
| 20 7S | E02,374 24.413 N EEE 802,974
te | mam 327 160 351,323 24,19 | 7.4 | mEsom 64,250
seuResg 23,643
NESE 12,560
SR 1,830
mRZzsg 186, 203
Bhe T EE B3.076
13| 2snz 2.000 500 -1.50 | 750 | w2EE 500
115 | au=nnzs .30 52,080 2514 | - | am= 82,080
16| wamassnz| 1004w 102, 324 nest | 1e | 2y=s 31,530
T 1,032
[mes 48, 173
nBEE B.203
Y, 7.179
AEEHT D 5,000
Hr | eEM 7.95 B, 500 55| 7.3 | wwz 1,500
HEHE 1,000
HEHEE 3.000
£18BE 2.000
JIEIE U 1.000

SRR 5,250 3,200 2.050 | -30.0
et | sz 1.000 1,000 - - | szumzza 1,000
123 | Eio 4,250 2.200 2050 | ~s.2 | e 500
sEAES 400
AEENEENS 303
lSEEE 1,000

S a7, 034 81,250 5,76 | 6.0
511 @l 15,000 17.000 2000 | 193 uwns £.000
EEnE 5,000
RE s 5,000
2| ssuaesz 33,500 28,500 10,000 § 26.0 | BaAE ST 2,000
2GR 2,000
agTE= 200
JET 2,000
22| 5.000
M ERIEERY 4.000




201485 Mg M= GlatA

=g fEbs @ HE)
2 = Z= __A

= & = &= = e BlIE(%)

AesEae 3,000

S 01Kk 1,000

H=D| B T EE| i 3,000

EEE I 50

2713 R 1,000

E8E 2 =NE 500

MR 1,000

EHHBRRE 2,000

N ARmUss 1,000

121} 2Eea 28,700 28, 100 0| 21| 2xu=sus 60

M BEYMER 4,000

LEaspa 9,00

EIaR 14,000

supa 00

130 ] BRzDE 7.03 Bze | B.9 | g@nasys 700

o] e HEDEUTETL 2,000

e NAVEHRES 500

e P 300

01 B E| 1 1.200

ErEE S| 1, Ban

BHYENES 1,000

135 | #hzwl 8.500 7.000 e 77 ] emo 5,000

A ETHIR I 2,000

136 | JEI2 s 1,30 3,000 - | == 2.000

JE2EH| 1,000

212,543 43,700 -128. B | -7E.4

202,543 43,700 -5 B3| -78.4

ZH A 161,853 BIREEY —141,35 | BT | MEE 3AE 20,00
212 | et ESH O LEY] 13,800 -17.030 | -83.0 | MEFY 2,00
HEHHEZZ 2,000
THESHE 2,000
&) 2,000
STERMH FE 2,003
223 B EE RS 13.600 13,700 300 0.7 | STINEIES 3,004
sEI & Fod
JEEEHI R 10,400

£36,604 412,271 -£,335 -1.0

Z2EH 283,554 247,414 704 2.5




EF (B9 @ B
= PHIEE | 20148E Sa Al pEye
= & = Gearsfa) | EasE) S HIZ {5} T

311 JaHu 201,765 290,514 £.543 Al 144 527
SEtrE=tT 1,972

o EH §.000

el 26, BIO

z gl | 30, 000

Pl EX=STEE 7,000 6.000 ~1.000 ) 143 | mEassw 5,000
NEAREIY 1,000

A13 J11 | 20,000 18,000 -2.000 | -0 | m=w 14,000
S| =y 4,000

cIE8 =41 2,500 2,000 e | B0 | AsSRAnERe 2.000
EET 2,000

335 @k 1,500 1.000 - - | 2ol 1,000
318 Sz e 15,000 15,000 - - | =szaaw 15,000
319 |2 2| 35100 25, 100 - B RS LN 76,000
H MO EH| 9,600

Lty 500

i 4,50 4,200 g | -z

322 fer g =y 1,500 1,500 w0 | 152 ®EETY 1,000
g Eay 500

az3 (= M) 2,500 1,500 |- 1.000 | ~20.0] 2nR7Y 1,000
WO M e 503

30 [HIBE DS 1,004 1,200 5 | o5 | 3z REMY 1,200

128,435 117,657 ~10,773 ] 8.4

332 [AbE AR T 2| 32,554 45,605 i2os ] se7 | smangeEg) 1,320
FABT(EED) 15,000

EEgD L]

L5 & A 3,000

213 5441 3.000

BT £00

REEN 1,350

2SI 5,000

R R 345

HEZ 10,000

S 00

333 [0S 5 &k 57,617 srese |- mes | e | nanazzo 12,000
MEE YT 1,600

UAHE 1,000




HEr (EHS @ &g}
* = 0t3es | ocotedts Sl slpe
= a = e e {a) ERLENNCH Do WIS (%) -
2zus 1,000
FREBEEH 4,000
L u S 1,000
FEEEL L £,000
EETEE 12.052
33 | el 18,165 21,000 2.8 | 156 | e 2,000
EEERTESS ] 2,000
SH s 2,000
a1 A1 2] 9,000
=t 5,000
238 [z e areiss 26,000 20,000 -1 - | mazeaew 10,000
SEELEEGE 10,000
14,705 14,837 | -0s
HECTE 3,705 14,537 | -0
511 [RUETE 0.5 { HEGOID 14,637
2.6
e 32.5
ait |oamin 52,7 | cotbl 2,959
aiz [staz - | amexa nes 2,000
b 2.048,617 | ruemEM |- rezess| S0




